I3FE5 28 RL+5 " HFWRKFHE, REEA
104.03.19
P WP TH20) (104.3.30-104.6.12) S FRLL Y B0 2 J]Hj QIR ol
FF557(36) (104.3.24-104.6.10) =y FF 1% » 570 3 J]Hj QiR ol
PR E i ;:,‘k]_:’z » B2 8% AR IKEFL(36)* % 3 &)

2.4 K EFL (36) B-3 &2 B4 1A kAt

— F%@SVP‘?E ° FPF %‘ﬁ'*&j
AEWEFR FRBFRPEH I FFLFIY G RAIFEF R KFSF G
THEMN P ERIILARE -
EFBE s v 3 v
o W Fc ¥ 8 71(20) W Fo¥ & 71(36)
kg 20 -] B¢ /10 3% 6] B ,/12 %
RS 6 L 271
o 104.3.30 -104.6.12 104.3.24 -104.6.10
B (B¢ Tami i) (@@ Lawd )
4L > 3% WA s Y A
_P%{;ﬁ%ﬁi‘}izﬁ*‘_%;ﬁj O%? ® 35 i’)’ w2 &3 é%b"ipﬁ“%&‘l ) K iE
Ty n 2 4 FE &g 4
i 24 %4 1% CSEPT AL B+ 4§35 o i#ﬂﬁzm@;,
Sk g WP~ LH S A
R | | R
=0 =
BZH | PR s | p |
Pl 5?11.12% e - post | R | R
FFEaond 20:00-21:35 Ry i 330 ) F214 R Sl s | P | B
WRSEQOA2 [ 5734 8 | VRN |41 & |C107 S 5TO-11 A7
R T B0 Bl | | 30
! RS2 Q0A3 fgéﬁ;;so Ty 018 [y |[TET T OOBL g gars [T 3248 Y309
I HZ BY900 8| L 4/] & I 25 = 2Y9-11 &
KIS FQOA4 | 000 jg.55 | IRETH™ = |C105| [Hf55555(36) B2 191042139 FHF=P (325 & €104
WESSBQO)A-5 |7 57 3.4 8 | V1SR 327 #|C202
FSTER0)A6 |75 57 3.4 A | SPEEEE|3/27 ¥ C203
A2 R =% 28 4= f2 LBV = . ,{ , -
i s (RIBEH | b te? BB 68k (R F SR
) 0 B 1 R FALT L H AR 0 2 sh 4 s v . ok .,
ﬁ@wﬁﬁeﬁxﬁJﬁajogg)ﬁtgg&)’&w14$ﬁ ALY HARRIR 0 2R
S ;ﬁj ‘ ‘ ‘ TREEET AAN S R(0OF A )EY ZEM
é‘:' \ . _\; 2 By 2 ; 6‘ i
H AT N AL 2§k P PRl S | ﬁ?"j’f ";’fg;‘: f;ii .%fii ?5‘3 35
2 0 P ERERSI SERPEK B2 J;1A4>o
BEFE AT B o e
e - %%?‘Jﬁ%ﬁﬁv%ﬂmﬁl “F l*‘*‘%"m  FEFREAR T PR E'Eﬂfﬂr l‘?”p@ ML e

Lt sk ® (20) = 5P zrr’«ﬁ%wup rEE T ?*'\2&:#‘% *Tﬁﬂrﬁhﬁcﬁﬁ’ °

154> %23 B3




